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 có vtpt 
[image: image121.wmf]=-

ur

(1;0;1)

n


Ta có 
[image: image122.wmf].0

=

rr

un


Lại có 
[image: image123.wmf]2420

-+=



 EMBED Equation.DSMT4 [image: image124.wmf](

)

EP

ÞÎ


Vậy 
[image: image125.wmf](

)

dP

Ì

.
Câu 9:  [2H3-3.7-1] Trong không gian tọa độ 
[image: image126.wmf],

Oxyz

 cho mặt phẳng 
[image: image127.wmf](

)

:210

Pxyz

+-+=

 và đường thẳng 
[image: image128.wmf]1

:2.

2

xt

dyt

zt

ì

=+

ï

ï

ï

ï

=+

í

ï

ï

ï

=-

ï

î

Khẳng định nào sau đây đúng?
A. 
[image: image129.wmf]d

 cắt và không vuông góc với 
[image: image130.wmf](

)

.

P


B.  
[image: image131.wmf]d

 song song với 
[image: image132.wmf](

)

.

P


C.  
[image: image133.wmf]d

 vuông góc với 
[image: image134.wmf](

)

.

P


D.  
[image: image135.wmf]d

 nằm trong 
[image: image136.wmf](

)

.

P


Lời giải
Chọn C
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